SmallRig

Cage for Atomos Ninja Series
Atomos Ninja Rl 5 E8HARIE

Operating Instruction / #&{E#g35|




- Thank you for purchasing SmallRig's product.

RBHERIEE SmallRig M.

- Please read this Operating Instruction carefully.

ERAATRZE, BFRIRRERESI.

- Please follow the safety warnings.

EERMAESRRITEEERRFESIMEES.

In the Box / 1355
Cage

HDMI & USB-C Cable Clamp

1/4"-20 Screws

M3 Screws

Allen Wrench

Operating Instruction

Guarantee Card

x 1

X

x 2

x4

x 2

x 1

x 1

RRAE

HDMI & USB-C %3k

1/4"-20 1822

M3 $R%2

NARF

(S =E]

RIEF

x1

x 1

x2

x4

x2

x 1

x1




Product Details / =R E

(@ 1/4"-20 Threaded Hole (2)1/4" 10 3/8" Screw Adapter
1/4"-20 $2LHL 1/4"-3/8" $EHRIRNE

(3) NATO Rail (@ Cold Shoe Mount
iEES RH

(® strap Slot (® Fixed Knob

B/ BwiEN Bt




Cage Installation / {ABIER ¥ B
Step1: Put the monitor into the cage from front to the back.
% BEUSENIEERARRIE.,

* The package does not
include the monitor

* BMENSERN

Step2: Securely fasten the monitor to the cage using two M3 screws
on the left side and one 1/4"-20 screw on the top.

BH BIENFHEMIBLITRER1/4"-20 1R8BS RRIE
BEEE.,

* The package does not
include the monitor
* BHBENSESH




HDMI & USB-C Cable Clamp Installation / &R &£

Step1: Align the fixed knob with the M4 screw hole and tighten the
fixed cable clamp.

B—5 EIEERHENEML BLABEETELE,

* The package does not
include the monitor

*BAENS RSN

Step2: Insert the wire and tighten it with the thumbscrews.
BH BALY, BIFITRLHEEEEM,

* The package does not
include the monitor

*BAENS RSN




Specifications / FE RS

Compatibility Atomos Ninja V / Ninja V+/ Ninja /
FREM Ninja Ultra
Product Dimensions 7.4 x4.4x1.0in
FFmRYT 187.8x110.8 x 26.Tmm
Product Weight 5.2+0.20z
FRES 148.0 +5.0g
Material (s) Aluminum Alloy, Stainless Steel
TEMR BAEE. FHEW
HATHIRAE: GB/T 26572-2011 LQ-P1272-18

C€ RoHS ® 4

PEFIE —




